INDIAN SCHOOL AL WADI AL KABIR

Class: XII Department: Commerce

Worksheet No: 1 Topic: INFRASTRUCTURE

1 Mark Question:

1.
2.

w

What does ISM stand for? A: Indian system of medicine.

This is an indicator used by experts to gauge the number of people dying prematurely due to
particular disease. A: Global burden of disease.

What is morbidity?

Mention one advantage of infrastructure.

A: It increases the productivity of the factors of production.

Why is social infrastructure important for the economy?

A: It improves human productivity and efficiency through facilities of education, health,
housing etc.

3/4 Marks Question:

Both economic and social infrastructures are crucial. Do you agree with the statement?
Explain.

How does infrastructure help in generating employment?

What are the main characteristics of health of the people in our country?

A:

e In India many people suffer from communicable diseases like diarrhoea, malaria and
tuberculosis. Every year around 5 lakh children die of water-borne diseases. The danger
of AIDS is also looming large. Malnutrition and deficiency of vaccines is also a major
cause of deaths of children in India.

e Many poor people do not have access to proper medical care and cannot afford the cost
of medical treatment and advanced diseases.

e The women suffer in their health as compared to the men. More than 50% of married
Indian women suffer from ill health and nutritional deficiencies.

6 Marks question:

Describe the meaning of public health. Discuss the major public health measures undertaken
by the state in recent years to control diseases.

10. What is the state of rural infrastructure in India?
11. Explain the three-tier system of health infrastructure in India.
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REFER TO GC NOTES FOR THE ANSWERS OF THE ABOVE QUESTIONS:

MCQ:

1. Which of the following statements is not correct with regard to the infrastructure?

a.

b.

C.

d.

Infrastructure contributes to economic development.
All infrastructural services have a direct impact on production of goods and services.
Infrastructure provides support services.

Inadequate infrastructure in health may have an adverse effect on health.

2. Which of the following is included in social infrastructure?

Electricity
Internet
Housing

Roads and highways

3. Which of the following countries invest almost 50% of its GDP in infrastructure?

a.

b.
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Bangladesh
India
Pakistan

China

4. Which of the following is not a function of primary health care?

a. Spreading education regarding prevailing diseases.
b. Promoting food supply and proper nutrition

c. Providing essential drugs

d. Conducting research
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5. Which of the following systems is not included in the Indian system of medicines?
a. Unani
b. Naturopathy
c. Homeopathy

d. Allopathy

6. Hospitals at the village level are called:
a. Private health centre
b. Rural hospital

c. Primary Health Centre

d. Rural dispensary

7. has huge potential because they are effective, safe and inexpensive.

a. Indian system of medicines
b. Indian medical system
c. American medical system
d. None of them.
8. Assertion — Maharashtra and Gujarat are industrially developed.
Reason: It is because these states have better infrastructure than others.
Choose the correct option:
a. Both assertion and reason are true and reason is the correct explanation of assertion.
b. Both assertion and reason are true and reason is not the correct explanation of assertion.
c. Assertion is true but reason is false.

d. Assertion is false but reason is true.

31




